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Basic Salary <25000 : HRA = 20%, DA = 80%
Basic Salary >= 25000 : HRA = 25%, DA = 90%
Basic Salary >= 40000 : HRA = 30%, DA = 95%

1Hlire0

#include <iostream>
#include<iomanip>
using namespace std;
int main()
{
float basic, gross, da,hra;
/* Input basic salary of employee */
cout<<"Enter basic salary of an employee: ";
cin>>basic;
/* Calculate D.A and H.R.A according to specified conditions */
if (basic <25000)
{
da = basic *80/100;
hra= basic *20/100;
}
else if (basic >=25000 && basic<40000)
{
da = basic *90/100;
hra= basic *25/100;
}
else if (basic>=40000)

{



da = basic *95/100;
hra= basic *30/100;
}
/* Calculate gross salary */
gross= basic +hra+ da;
cout<<setw (25) << "Basic Pay "<<setw (10)<< basic<<endl;
cout<< setw (25) << " Dearness Allowance" << setw (10)<< da <<endI;
cout<< setw (25) "House Rend Allowance "<<setw (10)<<hra<<endlI;

mn

cout<< setw (25) " "<<setw (10) <<"------------ :<<endl;
cout<< setw (25) "Gross Salary "<<setw (10) <<"gross" <<endI;
cout<< setw (25)" ‘"<<setw (10) <<"----mmmomem- " <<endl;

return 0;

}
Blauerflu (h

Enter basic salary of an employee: 25000
Basic Pay : 25000
Dearness Allowance : 22500
House Rent Allowance : 6250

Gross Salary : 53750
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switch case LweTL(HSE) 6 Lomevoreuesfledr LOFIIBILIETIT &5H65SHSHEMSHE SH6u0TSHEI (b LOIT 60T 60T
b LNflefled (distinction, first, second, third or fail) w&\iBlLesr OLIMM)ETETTET ET6ITLIEMS
fzfellé@Lb &++ Hiremeo 6TW&is

Percentage Division

>=80 Distinction
>=60 and <80 First division
>=50 and <60 Second Division
>=40 and <50 Third Division
<40 Fail

i)

#include <iostream>

using name space std;

int main()

{

float percent;

int x;

cout<<"Enter your percentage: ";

cin>>percent;

cout<<"You scored "<<percent<<"%"<<endl;
x = percent/10;

switch (x)

{

case 10:

case 9:

case 8:

cout<<"You have passed with distinction";

break;

case 7:

case 6:

cout<<"You have passed with first division";



break;
case 5:
cout<<"You have passed with second division";
break;
case 4:
cout<<"You have passed with third division";
break;
default:
cout<<"Sorry: You have failed";
}
return 0;
}
BlauerfluT(h 1

Enter your percentage: 79
You scored 79%
You have passed with first division

Bleueflut(h 2

Enter your percentage: 39
You scored 39%

Sorry: You have failed
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9 ererfLma BlLmLILL L erevor Liedlsoor_Gmid (Palindrome) 16060 &) E606mEVLLIT 6T60TE &600TL_MILLILD
&+ Hiremeo While oL &eflement LILETLI(GHSE) TP SIS,

CS-3

i)

#include <iostream>

using name space std;
int main()

{

int n,num, digit, rev =0;
cout<<"Enter a positive number: ";
cin>>num;

n =num;
while (num)
{
digit=num%10;
rev=(rev *10)+ digit;
num=num/10;

}

cout<<" The reverse of the number is: "<< rev <<endl;
if (n ==rev)

cout<<" The number is a palindrome";

else

cout<<" The number is not a palindrome";

return O;

}
BleueflutG 1

Enter a positive number to reverse: 1234

The reverse of the number is: 4321
The number is not a palindrome

Olauerflus(h 2

Enter a positive number to reverse: 1221
The reverse of the number is: 1221

The number is a palindrome
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do.. while L_&&lemeot LIIGTLI(HSS) LI 1911160 SiqLiLemLuleomest &++ [HlTemev 6T(LGIH
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2. @\[HLD 6TEUOTEMETIT SHELD 6T600T600TTES LOM MM
3. BlauerflGuwim
BsThSsILLL 2 etafl (hé@ anmeurm walifmer Olunm bleuef s
SIFSILab, Liweot epedt mmd eflpLILIGmS CaiTey OlaiLLD euemiy [AedledT G310
6\ Geuewor (hLb.

Bired
#include <iostream>
#include <cmath>
using namespace std;
int main()

{
int dec,d,i,temp,ch;
long int bin;

do

dec=bin=d=i=0;

cout<<"\n\n\t\tMENU\n1. Decimal to Binary number\n2.Binary to Decimal number\
n3.Exit\n";

cout <<"Enter your choice(1/2/3)";
cin>>ch;
switch (ch)
{
case 1: cout << "Enter a decimal number: "; cin >> dec;
temp=dec;
while (dec!=0)
{
d = dec%?2;
bin +=d * pow(10,i);



dec /= 2;

i++;

cout << temp << " in decimal =" << bin << " in binary" << endl ;break;
case 2: cout << "Enter a binary number: "; cin >> bin;
temp=bin;
while (bin!=0)
{
d =bin%10;
dec += d*pow(2,i);
bin /= 10;

I++;

cout << temp << " in binary =" <<dec << " in decimal";
break;
case 3: break;
default : cout<<"Invalid choice";
}
} while (ch!=3);
return 0;

}
BlauerfluT(h 1

MENU
1.Decimal to Binary number
2.Binary to Decimal number
3.Exit
Enter your choice(1/2/3)1
Enter a decimal number: 23
23 in decimal = 10111 in binary
MENU

1.Decimal to Binary number



2.Binary to Decimal number
3.Exit
Enter your choice(1/2/3)2

Enter a binary number: 11001

11001 in binary = 25 in decimal

MENU
1.Decimal to Binary number
2.Binary to Decimal number
3.Exit

Enter your choice(1/2/3)3

Olauerflus(h 2

MENU
1.Decimal to Binary number
2.Binary to Decimal number
3.Exit
Enter your choice(1/2/3)4
Invalid choice

MENU
1.Decimal to Binary number
2.Binary to Decimal number
3.Exit

Enter your choice(1/2/3)3

10
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CS-5

1hiT6d

#include <iostream>
#include <stdlib.h>
using namespace std;

void Primechk (int a )

{intj;
if(a==0||a==1)
{ cout<<" NEITHER PRIME NOR COMPOSITE ";}
else

{

for (j =2;j<a; j++)

{ if (a%j==0)

{ cout<< "\tCOMPOSITE" ;
break;

}

if (a==j)

cout<< "\tPRIME" ;
}

void fibo (intn)
{inta=-1,b=1,c=0;
for (inti=1;i<=n;i++)
{

cout<<endl;
c=a+b;

cout<c;

11



Primechk(c);
a=Db;
b=c;
}
}
int main ()
{
intn;
cout << " ENTER THE NUMBER OF REQUIRED FIBO TERMS " ;
cin >>n;
cout<< "\n\tFIBONACCI SERIES\n " ;
fibo (n) ;
return 0;

}
bleerflus(h

ENTER THE NUMBER OF TERMS 10
FIBONACCI SERIES

0 NEITHER PRIME NOR COMPOSITE

1 NEITHER PRIME NOR COMPOSITE

1 NEITHER PRIME NOR COMPOSITE

2 PRIME
3 PRIME
5 PRIME

8 COMPOSITE
13  PRIME

21  COMPOSITE
34 COMPOSITE

12
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mblTev

#include<iostream>

using name space std;

int a[20],b[20],c[40];

int m,n,p,val,i,j,key,pos,temp;

/*Function Prototype*/

void display();

void insert();

void del();

int main()

{

int choice;

cout<<"\nEnter the size of the array elements:\t";
cin>>n;

cout<<"\nEnter the elements for the array:\n";
for (i=0;i<n;i++)

{

cin>>al[i];

}

do {

cout<<"\n\n-------- Menu----------- \n";
cout<<"l.Insert\n";
cout<<"2.Delete\n";
cout<<"3.Exit\n";

COUt<<" - mmm ;
cout<<"\nEnter your choice:\t";

cin>>choice;

13



switch (choice)

{
case 1: insert();
break;
case 2: del();
break;
case 3:break;
default :cout<<"\nInvalid choice:\n";
}
} while (choice!=3);
return 0;
}
void display()//displaying an array elements
{
int i;
cout<<"\nThe array elements are:\n";
for(i=0;i<n;i++)
{
cout<<ali]<<"";
}
}//end of display()
void insert()//inserting an element in to an array
{
cout<<"\nEnter the position for the new element:\t";
cin>>pos;
cout<<"\nEnter the element to be inserted :\t";
cin>>val;
for (i=n; i>=pos-1;i--)
{
ali+1]=alil;
}

14



a[pos-1]=val;
n=n+1;

display();

}//end of insert()

void del()//deleting an array element

{
cout<<"\n Enter the position of the element to be deleted:\t";
cin>> pos;
val=a [pos];
for (i= pos;i<n-1;i++)
{
afi]=a[i+1];
}

n=n-1;
cout<<"\nThe deleted element is = "<<val;
display();
}//end of delete()

oleuerfluT(h

Enter the size of the array elements: 5
Enter the elements for the array:

1

2

3

L.Insert

2.Delete

3.Exit

Enter your choice: 1

15



Enter the position for the new element: 3
Enter the element to be inserted : 26

The array elements are:

1226345

1.Insert
2.Delete
3.Exit

Enter your choice: 2

Enter the position of the element to be deleted:

The deleted element is = 2
The array elements are:

132645

1.Insert
2.Delete
3.Exit

Enter your choice: 3

16
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Hlired

#include <iostream>

using namespace std;

void printBoundary (int a[][10], int m, int n)
{

for (inti=0;i< m;i++) {

for (intj = 0;j < n;j++)

{

if (i==0|| j==0||i==m-1||j==n-1)

cout<<ali][jl<<"";
else

n H.

cout<<”

}

cout <<endl ;

}
}

// Driver code
int main()

{
int a[10][10] ,i,j,m,n;
cout<<"Enter more than 3 number of rows and columns"<<endl;
cin>>m>>n;

for (i=0;i<m;i++)
for (j=0;j<n;j++)

cout<<"enter the value for array["<<i+1<<"]"<<"["<<j+1<<"] "

17



cin>>ali][j];

}
system("cls");
cout<<"\n\nOriginal Array\n";

for (i=0;i<m;i++)

{
for (j=0;j<n;j++)
{
cout<<al[i][j]<<" "
}
cout<<endl;
}
cout<<"\n\n The Boundry element\n";
printBoundary(a, m, n);
return 0;
}
BlaerfluT(h

Enter more than 3 number of rows and columns
44

enter the value for array[1][1] :1
enter the value for array[1][2] :2
enter the value for array[1][3] :3
enter the value for array[1][4] :4
enter the value for array([2][1] :5
enter the value for array[2][2] :6
enter the value for array([2][3] :7
enter the value for array[2][4] :8
enter the value for array([3][1] :9
enter the value for array([3][2] :0

enter the value for array([3][3] :1

18



enter the value for array[3][4] :2
enter the value for array[4][1] :3
enter the value for array[4][2] :4
enter the value for array[4][3] :5
enter the value for array[4][4] :6
Original Array

1234

5678

9012

3456

The Boundary element

1 2 3 4
5 8
9 2

3 4 5 6

19
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®

o E+-ufed Bleuefluf L memT eTetT) @SS Wemer B AST(HESLILL (heTer cileTeSmhisEsiTLLY
Sifell&saib

private members
Bookno integer
Title 20 characters
Author 10 characters
price float

Totamt float

calculate() ereorm 2 My OFWHE MemM DinflelSHGH SiFHled THHemenr LflFlsen HMID 6emev
BumetT meMEmM SH600TSHEIL(H OoTSHS LS| SieTemer SHiHLILT SiepIILIeLD,

public 2 mi'i 6

SHETENL6Y] & LILIGTLI(HSS 6Teveor Hirel 2 milerisEhe@LD (e L] 0EThSE!, USSS
sTevor GmeoTma@eu 1001 6r60Tm 6T6voT60 lE0IHIH S 2 (HEUTSHSHAILD OlEFILLLLOM 1) E)HSSH60 Bevevor(hid.,

« Readdata() Biswmsa m Title,Author , price LMD eTSHSHmenr LNflE6iT sT6oTm S IL|SE6T 2 6Taf(h
Blumm calculate() eT6oTm OlFWIMHEN MMM i P& BGeu6wor(HLd.

« Displaydata() flswmae m sre) 2 miierismer EEL 2_6Ter aigeis5He0 OeuerfluiL Geuesor(hid

ABC PUBLISHERS
INVOICE
Book Number
Title
Author Name

Price Per Book
Total Amount

Hlre0

#include<iostream>
#include<stdlib.h>
using name space std;
int id=1001;

20



class Publisher
{
int Bookno;
char Title[20];
char Author [10];
float Price;
float Totamt;
float calculate (int);
public:
Publisher()
{Bookno=id;
Title[0]="0
Author[0]="0}
Price=0;
Totamt=0;
id++;
}
void Readdata();
void Displaydata();
I8
void Publisher::Readdata()
{
int nocopies;
cout<<"Enter the Title name ";cin>>Title;
cout<<"Enter the Author name ";cin>>Author;
cout<<"Enter the Price ";cin>>Price;
cout<<"Enter the Number of copies ";cin>>nocopies;
Totamt=calculate(nocopies);

}

float Publisher::calculate(int x)

{

21



}

return x*Price;

void Publisher::Displaydata()

{

cout<<"\n\t\tABC PUBLISHERS\n";

cout<<"\t\t~mmm \n";

n

cout<<"\t\t INVOICE\n";

cout<<"\t\t ~~~~mm~ \n";
cout<<"\n==================================\n}
cout<<" Book Number : "<<Bookno<<endl;
cout<<"Title : "<<Title<<end];

cout<<"Author Name : "<<Author<<endl;

cout<<"Price Per Book : "<<Price<<end];

cout<<"Total Amount : "<<Totamt<<endl;

Cout<<"\n::::::::::::::::::::::::::::::::::\n ;

}

int main()

{

int n,i;

Publisher p[10];

cout<<"Enter the number of object to be created";cin>>n;
for (i=0;i<n;i++)

pli].Readdata();

for (i=0;i<n;i++)

pli].Displaydata();

return 0;

Oleuerflus(h

Enter the number of object to be created2

Enter the Title name C++Programming

Enter the Author name Balaguru

22



Enter the Price 500

Enter the Number of copies 3
Enter the Title name CoreJava
Enter the Author name Xavier
Enter the Price 250

Enter the Number of copies 5
ABC PUBLISHERS

N A N~ A~~~ i~ i~~~ o~

~N~ A~~~ A~~~

Book Number : 1001

Title : C++Programming
Author Name : Balaguru

Price Per Book: 500

Total Amount : 1500

N N N~ A~~~ A~~~ o~~~

~N~ A~~~ A~ A~

Book Number : 1002

Title : CoreJava
Author Name : Xavier
Price Per Book: 250

Total Amount : 1250
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0o ++ Mreded employee 66Ty STHEGW 2 HaTSHE g SCY 2 ememamsmm public
2 mIsenTs GFI&SaD

Public members

eno  integer

name 20 characters

des 20 characters

2 i OFWMEa )

void get() 616060 S8 2 MIL T SHEHEBGLD L IEnLI 2_6TerfLTas BlLim

Salary eretTm SHENGHELL L BeTéHES (w6 a5 g Sigled &Gl 2 6iTer ellaumigssiT OlEMm(h&bsaiD
Public 2 mi‘wjgeir

bp, hra, da, pf, np float

member 2 m'I| FWMH&a 1)

void getl()  bp,hra,da wpmid pf wHEwU 2 smefLTs BlLMM)

calculate() er6trm HlFIWIMFR MMM DieWLOGH60 Geu6v0T(HLD

calculate()  bp,hra,da &l Esemen a1 HFeOHHE pf S IML SHSS np S60TSHSIL_60
Grueuor(Hid

display() er6060I efleunmBicemeniLLd Olauerfluii_Geaieuor(hid

ShHelEaILLL SaTéE&WalNG OLMmmeT 2 [Heaumsd Siger epevld Lisssfwmenisefler elleurmigsmer
6eleu(H Lssoflumeriasens@o get(),getl() OFwmsn miserfler epeold 2 emerfl (b,

HlT60

#include<iostream>

using name space std;

class emp{

public:

int eno;

char name[20], des[20];

void get(){

cout<<"Enter the employee number:";
cin>>eno;

cout<<"Enter the employee name:";

cin>>name;

24



cout<<"Enter the designation:";

cin>>des;

}
b
class salary :publicemp
{
float bp,hra, da,pf,np;
public:
void get1()
{
cout<<"Enter the basic pay:";
cin>>bp;
cout<<"Enter the HouseRent Allowance:";
cin>>hra;
cout<<"Enter the Dearness Allowance :";
cin>>da;
cout<<"Enter the Provident Fund:";
cin>>pf;
}
void calculate()
{
np=bp+hra+ da -pf;
}
void display()
{

cout<<eno<<"\t"<<name<<"\t"<<des<<"\t"<<bp<<"\t"<<hra<<"\t"<<da<<"\t"<<pf<<"\
t"<<np<<"\n";

}

I8

int main(){

int i, n;

char ch;

salary s[10];

cout<<"Enter the number of employee:";

25



cin>>n;

for (i =0; i < n; i++){
s[i].get();

s[i].get1();

s[i].calculate();

}
cout<<"\n\t\t\tEmployee Details\n";
cout<<"\ne_no \t e_name\t des \t bp \t hra \t da \t pf \t np \n";
for (i =0; i < n;i++){
s[i].display();

}

return 0;

}

Blaerflus (h

Enter the number of employee:2

Enter the employee number:1201
Enter the employee name:Ramkumar
Enter the designation:Engineer

Enter the basic pay:50000

Enter the House Rent Allowance:10000
Enter the Dearness Allowance :5000
Enter the Provident Fund:1000

Enter the employee number:1202
Enter the employee name:Viswanathan
Enter the designation:Engineer-Tech
Enter the basic pay:40000

Enter the House Rent Allowance:9000
Enter the Dearness Allowance :4500

Enter the Provident Fund:1000

Employee Details
e_noe_name des bp hra da
1201 Ramkumar Engineer 50000 10000 5000
1202 Viswanathan Engineer-Tech 40000 9000 4500

26

pf np
1000 64000
1000 52500
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O L Student sreirm S6TS G (PMEY 2 HeuTSHES Digled SBLp 2 6T eleunmigsmenT OST(HEELD &++
HT6meD 6T(LP&SIS
protected 2 mji|

Rno integer

public 2 mi'njseim

void Readno(int);  roll number wgliemu 2 sefLms OLMM Rno -efled LI HSS6D

void Writeno(); Rno sweu Beerflufi

Test er60rm BT8P public SigmiLedled Student e @ WelledHH & 2 HauTse Sigled SBLp
Blam(beaLILL (heTer elaunmicser & GaueuoT(hd

protected 2 m'i|s6i

Mark1 float

Mark?2 float

public 2 mi'njsei

void Readmark(float,float); markl wmmid mark2 -6im@ &L GSHmeT 2 6ierf (h bl
void Writemark(); = marks Glexerfluii_

Sports 66T B 60T G (P06 SBLPLLETAT AlUITRISET 2 L 60T 2 (HENTSHSHEILD

protected 2 m'I|s6r

score integer

public 2 mi'njs6i

void Readscore(int); score -607 &\ iemL 2_61T6rT(H bl

void Writescore(); score -6r &l 1emL Aeuerfludi_

Test MWD Sports etremerra@(eledihb gl Result eT6orm ShefléasLILL L E6oma@(Lpsmey SGLpWsTeT
eI ETHL60T 2_(HEUTHSAID

private 2 mi'i]

Total float

public 2 mi'n|

void display() mark1 ,mark2,score -6 &a L' (h Ol5mem&semiL total -6060 LA 1N HSSHLD LTedT
Writeno(), Writemark() opmid Writescore() O5wm&a misemer Simpss) total - oglismL
Beuerflui_eyid.

27



Hir6d

#include<iostream>
using name space std;
class Student
{
protected:
int Rno;
public:
void Readno(int r)
{
Rno=r;
}
void Writeno()

{

cout<<"\nRoll no : "<<Rno;

J§
class Test :public Student
{
protected:
float Markl,Mark2;
public:
void Readmark (float m1,float m2)
{
Markl=ml;
Mark2=m2;
}
void Writemark()
{
cout<<"\n\n\tMarks Obtained\n ";

cout<<"\n Mark1 : "<<Markl;

28



cout<<"\n Mark2 : "<<Mark2;

}

b

class Sports

{

protected:

int score;// score = Sports mark
public:

void Readscore (int s)
{

score=s;

}

void Writescore()

{
cout<<"\n Sports Score : "<<score;
}
b
class Result :public Test,public Sports
{
int Total;
public:
void display()
{
Total = Markl + Mark2 + score;
Writeno();
Writemark();
Writescore();
cout<<"\n\n Total Marks Obtained : "<< Total<<endl;
}
b

29



int main()
{

Result studl;
stud1.Readno(1201);
stud1.Readmark(93.5,95);
stud1l.Readscore(80);
cout<<"\n\t\t\t HYBRID INHERITANCE PROGRAM\n";
stud1.display();
return 0;

}
OleuerfluT(h

HYBRID INHERITANCE PROGRAM
Roll no: 1201

Marks Obtained
Mark1 :93.5
Mark2 195
Sports Score : 80

Total Marks Obtained : 268

30
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Qno. Question Qno. Question Choice
0 .. 65 Sievofluied
cs1 | MoTes FOLEM 1 g6 o mlnmeer G&FGemsd! | CS1or CS7
ST SHEIL_6D : .
B&H&SIH60
Smuiflomesr  Siewofluflesr
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